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 ttempt all questions.

figues to the right indicatc marks.

Use ol l'actor table and scientific calculator is allowed

SECTION_A

Ratios are indicators, sometimes pointers but not in themselves powerlul tool ofmanagement -
Discuss. l,+

OR
Discuss the signiticarlce ofprojecred cash flo$'statement in decision making: [n *hat respect
cash flow statcnlcnt is signilicantly different tionl fufld llo\r statement? l]

SECTIO\ B

(a) \\.1rat is a salc and lease back arrangementl lixplain it rvith cxample. 7

(b) A companl named Reddy's decided to replace the existing compuler system of their
organization. 'Ihc original cost of old svstem wa-s Rs. 25.000 :ind it was installed 5 l'ears
ago. Currcnl markel value of old s,vstem is Rs. 5.000. The dcprcciarion ol the old s! stem
was chargcd !,"ith liic of l0 years. The depreciation ofthe nevv systcm \,"illbe charged Nith
lifc ovcr 5 rcars. Estimated salvage ralue of the old s]stem !\'as nil. Present cost of thc
ne$ svstem is [\. 50,000. Eslimated sah'age \,a]ue ofthe nc$'s]'slcm is Rs. 1.000. Estinlated
cost savings with ncw system is Rs. 5.000 per J'ear. Incrcasc in sales \yith ner! s]stcm is

assumed at l0%o per )ear based on the original total sales of Rs. 1,00,000. Company follo$s
straight linc method of depreciation. Cosr ofcapital ofthe company is l07o lvhereas tax
rate is 309'0- Whether Reddy's shoLLld accept the replacement proposall '/

OR
(c) \\hat do 1ou rncan by sequencing ofdecisions? Explain its significance. 7

(d) Caravan Ltd is considering the possibilitl ofpurchasing a muhipLrrpose machine \ahich cosl
Rs. 10.00 lakhs. The machine has an expected life of 5 1ears. The machine gener:tes
Rs. 6.00 takhs pcr year bctbre depreciation and tar and the management uishes 1l) dispose

the machinc at thc cnd of 5 years uhich rvill felch Rs. 1 .00 lakh. The depreciation allo\\ able

for the machi|c is 25-9lo on *rittcn down value and the compan)"s tax rate is 5070. The
company approached a NBFC lor a lirc 1car, lcase for linancing the assets &hioh quoled

the ratc ofRs. 28 per thousand per monlh. 'Ihe company \,''ants you to evaluate the proposal

with purchasc option. The cost of capital is l29t and lbr lease option, it *ants you to considcr

a discount rate of 16010.

l

t) 1 l +

PV @ 12% 1.000 0.891 0797 0.712 0.616 0.567

wP7:?,5

PV Qi 16% t.000 0.862 0.'743 0.6,11 0.552 0.4',/6
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3. (a) l-.xpia r1 \todigliani rnLl l\liller's hlpolhc<is tbr corporate di\idend polic)' \Vhal are its basic

[b)Aconrpanl'islacecLrvit]]thcproblenroJ.cho(rsingherweenlwomutuallyexclusiveprojects'
l)rojcct r\ requi.cs trca;htrutler olRs l.lr0.0( l-r andcash running e:'pcnscs oiRs' -15'000

per year. On thc other hafld Proiecr B \\ ilI cost Rs. I .j0.1]0ll irnd reqllirc iaih running expcnscs

of Rs. 20,0()0 per ycar Both Lhc nl].lrines harc 81'ears ()1 lit'e l'r'rject A has a salvage

of Rs. -1.000 and Prolec! R ltas a ;alrag' Ylluc oa Ri l'1 000' 
-lhe 

compan]-''s ta\ rate

is 50% md it has .r I J9'i, "cquired raic (-ri relum.

Assuming depreciation on slraisht linc basis ascertain rrhich project should be accepted.

P.!'. of annuity ot Re. 1 l.rr 8 )'ears = r.lli and P.\'. of Re. I al lhe cnd of 8 years

is 0.467. both at thc discount ratc ol 1()% 7

oR

(c) How do you calculate net prascrll valrre tri a project? l\-hat are its merits and demerits'l
:7

(d) \\:i!h thc hclp of lhe fbllo$ ing ligures cal:ulale the marl'ct price of a share of a companv

by usirg:

iil l\:altcr'stbrnLrla

(ii) Dilidcnd gorvlh mod,:l (Cordon s tbmrula)

IPSRs 10. diridendp.. shir,'i RJ.6. cosLL]icapitel l[)0,6- lnlemal ralc )fretum on investment

:59i,. Relention rrtio (,09o 1

sEc'rIo\1'
4. (a) Doscribc an)'nvo methoJ\ rrsed for decis:on mekins qjlh Lmcerlai.t). 7

(b) Ihc technique ofcos! volLnre lrotil anal)sis czur be a r aiuable aid to linancial decision makine

I:xolain. 7

OR

(c) Risk and uncertaiot) are quiel inhcrcnt in cafital budgeting - Explain the statement. '7

(d) \\'har are the factors rhal inllucnce cal)itei expenditure dccisions? 7

SEC'TION D

5. XYZ t-ld is considerins lilcrger !\ith .{BC T,id. XYZ Ltr!'s shares are curreDth traded at

Rs. 25- It has 2.00.000 shrrcs ourn:L.rding and irs c:mriags aiier taxeslEAl) tmounl lt, Rs. .1,00.000

ABC Lld has 1,00,000 shares outstemding. Iti current market price is l{s. 12.50 and its F.AT

are Rs. 1.00.000. The mersc! \\,iil bc efiicted b! neans of a stock swal (exchange) ABC Ltd
has agreed to a plan undcr which XYZ [-td *ill ertier the currem markst value ofABC Ltd's
shares.

(i) \nlat arc thc pre-nrerger elmings per.hare and PE ratios ofbolh rhe companics'.)

(ii) IIABC Ltd's P/Fl ratfu is 3. rvhat is irs curren! market price? Whar is the exchange rario?

What rvill XYZ Ltd s post mcrger EPS be?

(iii) \! hat must fie e\change ratio be lirr XYZ [-td's that prc and po:rt merger EPS arc thc

sarne? 14
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